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2) The second of two numbers is 3 less than twice the first. Their sum is 36. Find the
numbers.
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4)  The larger of two numbers is 1 less than 8 times the smaller. Their sum is 179. Find the
numbers.

Lorger # A -\ L+ S—1= 119
pmallor #: L qrL-y=119
dom = 119 B \ ’\'\4
A=[R0
pnoblor e =20 gr 7
Yonppr e = 157 L=

10)  Together a chair, a table, and a lamp cost $562. The chair costs 4 times as much as the lamp, and the
table costs $23 less than the chair. Find the co=t of the table.

Chon: X H+ 923 +1 =56
+able : dJ-275 Cm_z =37
/W X t7% 123
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Part 2:  2) Six more than 5 times a humber is the same as 9 less than twice the number. Find the
number.
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8) The sum of two numbers is 35. Three ‘nmes the larger number is the same as 4 times the smaller number
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12) Cycle Paths, Inc. makes bicycles, tricycles, and unicycles. Last week they made 88 more bicycles than
unicycles and 5 times as many tricycles as unicycles. If they made 40 more bicycles than tricycles, how many
unicycles did they make?
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